
Osnove elektrotehnike I (E-VS)   
1. domača naloga - rešitve  1 
 

1. 51 32,18 1 24,12 10 N

V1 160,9 1 120,6
m

x y

x y

F

E

→ → →
−

→ → →

⎛ ⎞= ⋅ + ⋅ ⋅⎜ ⎟
⎝ ⎠

= ⋅ + ⋅
  

 
 
 

2. a)  kV1 400
myE

→ →

= ⋅  

b)  6
3 1 10 AsQ −= ⋅  

c)  Q 1 2, 4 NyF
→ →

= ⋅  

 
 
 

3. 6
3

As9 10
m

q −= − ⋅  

 
 
 
4. sq q= −  

 
 
 
5. 13

9
3

5,85 cm

6,84 10 As

r
Q −

=

= − ⋅
 

 
 
 
6. 

0

0, 0

1 , 0 2

0, 2

z

z

E z

z

σ
ε

→ →

⎧ <
⎪
⎪= < <⎨
⎪
⎪ >⎩

 

 
 
 

7. 1 12,1 NxF
→ →

= ⋅  
 


